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Directions (1-10) :  Read the
given passage carefully and
attempi the questions that follow |
and  shade the appropriate |
answer in the space provided for
it on the answer sheet.

It1s an old saying that know ledgc
15 power. Education is an lmtmmcm
which imparts  knowledge and|
therefore, indirectly controls power. |
Therefore, ever since the dawn of
our civilisation, persons in power ’
have always tried lo supervise or
control education. It has been
handmaid of the ruling class.
During the Christian era, the
ccclesiastics  controlled  the
institution of education and
diffused among the people the
gospel of the Bible and religious
teachings. These gospels and
teachings were no other than n‘
philosophy for the maintenance |
of the existing society. It uught‘
the poor man to be meek and to .l
carn his bread with the sweat of
his brow, while the priests and
the landlords lived in luxury and
fought duels for the slightest
offence. During the Renaissance,
cducation passed more from the |
clutches of the priest into the
hands of the prince. In other
words, it became more secular.
Under the control of the monarch, |
education began to devise and
preach the infallibility of tls‘
masters, the monarch or king, lt
also  mvented and suppoﬂcd{

GUPTA CLASSES

fantastic theories like “The Divine
Right Theory” and that the king
can do no wrong, etc. With the |
advent of the industrial revolution,
education took a different turn and
had to please the new masters. It
now no longer remamed the
privilege of the baron class, but
was thrown open 10 the new nch
merchant class of the society. The |
philosophy which was in vogue
during this period was that of
“Laissez Faire” resiricting the
function of the state to a mere|
keeping of laws and order while on ‘
the other hand, in practice the law |
of the jungle prevailed in the form |
of free compettion and the
survival of the fittest.
What does the theory
Right of King" stipulate !
(a) The kings are God
(b) That the right of governing is
conferred upon the kings by
God
(¢) They have the right to be
worshipped like Gods by lhe:r ‘
subjects
(d) That the night of kings arc
divine and therefore sacred
Who controlled education during
the Renaissance ?
(a) The common people
(b) The prince
(€) The church and the pricsts
(d) Nonc of these
What did the ruling class in the
Christian Era think of the poor
man ?

(a) That he 1s the beloved of God

u()lv“m |

‘h

-3

(b) That he deserves all sympathy
of the rich

(¢) That he should be strong and
lord over others

(d) That he i1s meant for serving
the nich

Who controlled the institution of

education dunng the Chastian Fra ?

(@) The secular leaders of society

(b) The church and the priests

(¢) The monarchs

(d) The common people

What does the word “infallibility”

mean ?

(a) That every man is open to error

(b) Sensitivity

(c) The virtwe of not making
mistake

(d) That some divine power is
responsible for  determining
the fate of the man

What do you mean by the “sweat

of his brow™ ?

(a) Very hard work

(b) The tiny droplets of sweat on
the forehead

(¢) The wrinkles visible on the
forehead

(d) The sign of innocence

. What does the policy of “Laissez

Faire" stand for ?

(a) Individual freedom in
economuc field

(b) State control over law and
order in society

(¢) Joint control of the means of
production by the state and
private enterprise

(d) Decontrol over law and order
by the ruling class

the
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Which of the following describes |

the writer 7

(a) Concerned

(b) Unconcerned

{c) Aggressive -

(d) Frustrated i

Choose the correct synonym out |

of the four choices given :

Gospels

(a) Chitchat

(b) A waching or doctrine of a
religious teacher

{¢) Rumour

(d) Guidance

Choose the correct synonym out

of the four choices given :

Vogue 2

{a) Uncenain I

() Cut-dated |

{c) The prevailing fashion or style |

(d) Journey |

Directions (11-158) : Selecr the

word that is spelt correcily.

(a) paraphemnalia

(b) paraphrenalia

(¢} parapherenalia

(d) paraphrennalia

{a) enlerprenuep

b} entrepreneur

(<) cnlrepéenur

(d) enleruepeur

(a) onomaetopocia

(b) onomoatopoeia

{¢) onomatopoeia

{d) enomatapocia

{a) hemorhage

ib) haemorhhage

(c) haemorrhage

{d) hemoorhage

(a) dylexsia

(b} dyslexia

() dislexia

(d) dislecsia |

Directions (16-25): Select the |

best option  from the four |

alternatives  given below and |

shade the appropriate answer in

the space pravided for it in the |

answer sheet, |

T

. Unless he ......... this office, ||
will not say anything, |
(a) lefi (b) did not leave
(c) leaves (d) had left
PTA CLASSES

19.

20.

21

-
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23.

o B . the news an hour ago.

. Galileo said, “The Earth ..,......

I would help all the poor
people,

{a) IfT am rich |
(b) If 1 was rich !
{c) If I were rich

() In case | am rich

{a) hnu: heard
(b) heard

{¢) was hearing |
{d) have been hearing
He  spoke  ......7

about  |is

{a) confidentially
(b) consciously
{c) confidently |
(d) conscientiously

The boy is not imerested in
playing, ........, 7

(a) Doesn't he

ib) Isn"t he

(¢) Didn’t he

(d) Is he

He told us that we should never |

'i
live beyond ........ . means. I
{a) his [

(b) their
(<) pur
{d) her
May | request you agam
to consider my case favourably,
(a) o .
(b} onto |
(c) of

{d) No proposition required
Known as devout and serious !
person, she also has
of humour.

(a) better

{b) quick

{c) good

(d) beautiful

around the sun™,
(a) revolved |
(b} is revolving

(c) revolves

{d) is revolved

We our work before the
guests arrived at our house.

{a) shall finish

i(b) have finished

{c) had fmished

{d) shall have finished

Directions (26-30) : The sentences
given in each question, when
properly  sequenced, form

2%

28. A,

coherent  paragraph.  Each
semence is labelled with a letter.
Choose the most logical order of
seniences from among the given
choices to construct a coherent
paragroph. Shade the appropriate
answer in the space provided for it
in the answer sheet.

| 26. A, People who start up their own

busincss typically come from
two extreme backgrounds :

One is the business family
background and the other is a

steady professional family
back y

B. Typically, people from
different  backgrounds face
different kinds of basic
problems

C. The people from both the
backgrounds find it wvery
difficult to establish and

manage an entcrprise.

Strting up and managing a

small business is no joke.

(a)DBCA (B)BACD

(f)DACB (d)CDAB

A. Venture capital is recommend-
ed as the ideal source of
financing for a successfully
small business.

B. Sceveral companics including
start ups have been funded by

.

dedicated venwre  funds
during this decade,

C. Despite this, an average
Indian  entreprencur  under-

.stands and appreciation of
venture capital concept has
been woefully inadequate.

D. In the Indian context, though
venture capital has been a
relatively late entrant, it has
already made a reasonable
impact.

() ABCD

(b)ADBC

KlACBD

(dADCB

Progress in diagnosis, in

preventive medivine and in

treatment, both medicinal and
surgical, has been rapid and
breathe taking,

- Mych in_medicine which is

not taken for granted was

undreamt of even as recenily

as 20 years ago.
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30, A. The Winchester or hard disk |

41. 2/3 i5 a rabonal number whereas

42,

C. Presently small pox has been |

eradicated, poliomyelitis |
practically banished, |
tuberculosis  has  become

curable and coronary artery
diseasc surgically relievahle,
The dramatic surge in the field’
of maolecular  biology :mdl
research by 1mmumlngists
and geneticists has succeeded |
in  controlling  parasitic
dims:l‘:s like malaria and river
blindness that affect millions
of people round the world.

(a)BDCA :

(b)BACD |

YBCAD

(dBDAC "

A. Instead, many deaths and
njurics result from falling |
objects and the: collapse of |
buildings, bridges and other |
structures,

B. Earthquakes almost never kill

people directly. _

Fire resulting from broken gas |

or power lines is another |

major danger during a quake,

Spills of hazardous chemicals

arc also a concem during an

carthquake.

(a)CABD (MDACB

(c)DCAB (d)BACD

D.

drives can store much more |
data than what can be stored |
on a floppy diskette, '!
Hard disks come sealed and
they canmot be removed or
changed like floppy diskettes I
Often floppy disk system is|
used in conjunction with the |
Winchester disk system |

.

32,

13,

14.

SECTION - B :

N2/43 i

(a) Also a rational number

(b) An irrational number

{c) Mot a number

(d) A natural periodic number
Greatest number which divides
926 and 2313, leaving 2 and 3
remainders, réspectively, is :
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43.

D. This makes for an rdtai
system for secondary sworage.
(8)CABD (bICBDA
c)BACD (d)ABCD
Directions (31-35) : Given below
are a few [foreign language
phrases which are commonly
:fm:’ . Choose the corvect meaning |
Jar each aof the phrases and shade |
the appropriate answer in the |
space provided for it in the |
answer sheel,

El Dorado

(a) An imaginary place
(b) High altitude

(c) A litcrary man

(d) A country full of gold and

precious stones

Quantum ramefactus

{a) The amount of damage suffered | |

{b) The amount of damage caused !

(c) The amount of damage paid |

{d) The amount of damage
received

Corpus delicti

I

(a) Fake evidence of an offence |

(b) Hearsay evidence of an|
offence _

(¢) Lack of evidence of an
offence

() An evidence which constituie

an offence

Vis-a-vis

() Direct (b) Opposite

(¢) Face to face (d) Agree [
. Carnte blanche [

(a) Complete authority -
(b} lssue the warrant [
{¢) No authority |
(d) Lack of authority |
Directions (36-40) : Choose the |

‘explanation thai catches the spirit |
|

7.

A8,

40.

of the idiom given in each
questian,

[ 36. Toblaze a rail

{a) To set on fire

(b) Ta blow the trumpet

(d) To initiate work
movement

{€) To be hopeful

A snake in the grass

(a) A secret or hidden enemy

{(b) An unreliable person

{¢) Unforeseen happening

(d) A dangerous cnemy

Have too many trons in the firc

(a) Engaged o0 many
cnterprises at the same time

(b) Facing 100 many problems at
the same time

(¢} Said or done too many things
at the same time

(d) To incite the feeling amongst
the people

in a

. A fair weather friend

(a) A friend who is fair to us at all
the times

(b} A friend who desens us in
difficulties

(c) A friend whom we love the
misl

(d) A friend who loves us the
most

A Panacea

(a) An injection that serves as a
life line

i(b) A lecture full of precepts

ic) A strong drug that induces
sleep

(d) A single cure for all discaszes
or troubles

ELEMENTARY MATHEMATICS
(NUMERICAL ABILITY) :

(a} 52 (b) 54

(€) 152 (d) 154 .
A single discount equivalent to &
discount scrics 15% and 5% is :
(a) 32%

{b) 20%%

(c).10%

(d) B.5%

| 44, By selling a cycle for ¥ 2,345/-, a

student losces 19%. His cost price
is nearly :

(a) T 4,000/- 3

{(b) T 5,000/-

() T 3,000/-

(d) T 3.500/-

GUPTA
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(C) Multi COMMODITY EXCHANGE (MCX)

45.

46.

47,

48.

49,

s0.

51,

52,

Diagonals of a rhogbus are 1 m and 1.5 m in lengths. |
The area of the rhombus is

() 0.75 m’ (b) 1.5 m°

(c) 1.5 m* (d) 0.375 m?

An angle in a semi eircle is

ja)m {b) w4

() w2 (dy2m |

In a’school for midday meal food is sufficient for 250 |
students for 33 days, if each student is given 125 gm |
meals. 80 more swdents joined the school, IF sarfie |
amount of meal is given to each student, then the food |
will last for : |
(a) 20 days (b 40 days |
(c) 30 days (d) 25 days |
In a school of 500 students, 102 students can read |
Hindi and Tamil both, 200 students can read only |
Hindi. The students who can read only Tamil are
{a) 98 (b)) 402

{c) 302 {d) 300

The value of & for which Ax + 3y — k + 3 = 0 and
12 + kv = k, have infinite solutions. is -

(a) O (b) —&

(c) 6 (d) 1

Table shows the daily expenditure on food of 25
households in a locality - |
2 100-150 150-200° 2(0-250 250-300 300-350

Howseholds 4 5 12 2 2
The mean daily expenditure on food is :

(a) T L. 104 (b} 161/- I
(c)yT211/- {(d} T 261/ |

A box contains 24 marbles, some are green and others |
are blue. 1f a marble is drawn at random from the jar, |

the probability that it is green is 2/3. The number of | -

blue balls in the jar is ;

fa) 13 (b 12

{c) 16 (d) 8 |
Thc population of a city is 250 ‘thousand. It is |
ingreasing at the rate of 2% every year. The growth in

the population after 2 years is : |
in) 2500 (b) 10000

(e} 252000 () 10100

5‘3?

55.

57.

If a point (x, ¥) in a OXY plane 15 equidistant from
(— 1,1y and (4, 3) then :
(a) 10x + 4y =123
(C)—x+yp="7

(b) 6x+ 4y =23
(d)dx + 3y =0

« Sum of first 15 multiples of 8 is

(@) 960 (b} B
(ch 1200 () 1060
A rod of 2 em diameter and 30 cm length is converted

into a wire of 3 m length of uniform thickness. The
diameter of the wire is :

{a) 2710 em (b) 210 em

() U100 em (d) 1/10 cm

Two straight poles of unequal length siand upright on a
ground. The length of the shorter pole is 10 m. A pole
joins the top of the two vertical poles. The distance
between the two tops is 5 m. The distance between the
poles along the ground is 4 m. The area thus formed by
the three poles with the ground is :

fa) 52 m (b) 46 m*
(c) 20 m* (d)y S0 m~
Pipe A can fill a tank in 10 hours and Pipe B can fill the

same tank in 12 hours. Both the pipes are opened 1o fill
the tank and after 3 hours Pipe A is closed. Pipe B will
fill the remaining part of the tank in :

(a) 5 hours th) 4 hours

i) 5 hours 24 min (d) 3 hours

A ground 100 x 80 m® has two cross roads in its
middle, The road parallel to the length is 5 m wide and
the other road is 4 m wide, both roads are
perpendicular to each other. The cost of laying the
bricks at the rate of 2 10 perm®, on the roads, will be :
() T T00/- (b) T 8O0/ '

() T 900/ (d) T 1,000/

. If selling price of 10 articles is equal to cost price of

Il articles, then gain is :

-

(a) 2% (b} 2

{c) B.5% (d) 10%%

Angles of a quadrilateral are in the ratio 3: 4 : 5 : . The
smallest angle is :

fa) 20° (b 40°

fc) 367 (d) 18

SECTION-C. GENERAL KNOWLEDGE AND CURRENT AFFAIRS

61. Who was recently confirmed by the US Senate as the next American Defence Secretary?
(A) Ashton Carter (B) Chuck Hagel (C) Leon Panetta (D) Robert M. Gates
62. Balasubramaniam Venkataramani was on 13 February 2015 appointed as new MD & CEO of ?
(A) National Commodity and Derivatives Exchange (B) Bombay STOCK EXCHANGE (BSE)

(D) Ace Derivatives and COMMODITY EXCHANGE

63. Which company on 13 February 2015 appointed Ashish Agrawal as its new Chief Technology Officer?
(A) Samsung (B) Micromax Informatics (C) Dell India (D) Motorola Mobility
64. What was India's rank in World Press Freedom Index 2015 released recently?
(A)180(B)54 © 105 (D) 136
65. Sunil Chhetri was on 15 February 2015 presented with 2014 AIFF Player of the Year award(male). Who won the award for the female player?
(A) Kamala Devi (B) Bala Devi(C) Dangmei Grace(D) Roshini Devi
66. India on 15 February 2015 defeated Pakistan in the ICC World Cup Cricket 2015, thus securing its sixth consecutive World Cup game win against
Pakistan. Who was adjudged the Man of the Match?

(A) Virat Kohli(B) Suresh Raina(C) Mohammed Shami(D) Shikhar Dhawan

67. China has recently opened its largest overseas embassy in which country?

(A) India (B) Srilanka © Bhutan (D) Pakistan

A
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68. Which state was felicitated for emerging as one of the best performing states in the renewable energy segment, during the Renewable Energy Global Investors
Meet (RE-Invest) held in New Delhi recently?

(A) Andhra Pradesh (B) Kerala(C) Chhattisgarh (D) Assam
69. Who recently became the first ever Indian cricketer to score a hundred in the ICC World Cup match against Pakistan?

(A) Rohit Sharma(B) Virat Kohli (C) Suresh Raina(D) None of these
70. Who is the director of the movie'Dhanak' that was honoured at the 65th Berlin International Film Festival recently?

(A) Nagesh Kukunoor(B) Ritesh Batra(C) Geetu Mohandas(D) Anurag Basu

71. Which country on 11 January 2015 announced to host an International Anti-terror Summit

in the month of February 2015?

A. The United Kingdom B. The United States C. France D. India

72. Name the National Park that was shut down on 11 January 2014 for one week after 47
migratory birds were found dead in the park?

A. Keoladeo National Park B. Bharatpur Bird Sanctuary C. Salim Ali Bird Sanctuary D. Sultanpur National Park
72. Name the person who on 11 January 2015 won the men's single of Chennai Open of Tennis?
A. Aljaz Bedene B. Stanislas Wawrinka C. Roger Federer D. Novak Djokovic

74. Jharkhand Assembly on 8 January 2015 adopted a resolution urging State government to
send a proposal to Union Government for setting up a bench of the Jharkhand High Court in?
A. Dumka B. Jamshedpur C. Dhanbad D. Bokaro

75. Name the new class of antibiotic capable of fighting infections which was discovered in
first week of January 2015 by scientists from Northeastern University in Boston, Massachusetts?
A. Zovirax B. Teixobactin C. Ampicillin D. Penicillin

76. India on 8 January 2015 decided to provide 60 million US dollars Line of Credit (LoC) to a
country for its road infrastructure projects and passenger ferry service. Name the country.

A. Maldives B. Guyana C. Nigeria D. Myanmar

77. Indian Immunologicals Limited on 8 January 2015 launched India’s first vaccine to counter
the deadly bluetongue disease. Name the vaccine?

A. Vibriovax B. Ultravac Botulinum C. Cattlevax LC D. Raksha Blu

78. Which Indian bank on 7 January 2015 launched contactless credit cards and debit cards?
A. HDFC Bank B. ICICI Bank C. Axis Bank D. Citibank

79. Pakistan government in the first week of January 2015 decided to restrict the Pakistan-
India Dosti bus service up to Wagah border. In this context, consider the following statements.
L. For the first time the bus services on Delhi — Lahore route was suspended in the aftermath of
the Indian Parliament attack in 2001

II. The bus service between Delhi and Lahore was started in February 1999 by the then Prime
Minister of India Atal Bihari Vajpayee and Prime Minister of Pakistan Benazir Bhutto.Which is/are
correct?

A. I0Only B. II Only C. Both I and II D. Neither I nor II

80. What is AMCA that was in news in the first week of January 2015?

A. It is Advanced Medium Combat Aircraft being built by India and Russia jointly

B. It is fifth generation fighter aircraft being built by India indigenously

C. It is fifth generation nuclear submarine being built by India and France jointly

D. Both (a) and (b)

81. Name the space telescope that on 6 January 2015 discovered 1000th exoplanet in the
constellation Lyra.

A. Hubble Space Telescope (B) Chandrasekhar Space Telescope

C. Kepler Space Telescope D. James Webb Space Telescope

82. China on 7 January 2015 announced to include which vegetable as staple diet?

A. Tomato B. Potato C. Beans D. Cabbage

83. Who was sworn-in as the sixth Governor of Uttarakhand on 8 January 2015?

A. Rameshwar Thakur B. V K Bisht C. K K Paul D. Aziz Qureshi

84. Who was sworn-in as the President of Sri Lanka on 9 January 2015?

A. Mahinda Deshapriya B. Mahinda Rajapaksa C. Gotabhaya Rajapaksa D. Mithripala Sirisena
85. Which Indian film was nominated for 2015 BAFTA Awards under non-English best film
category on 8 January 2015?

A. The Lunchbox B. Two Days, One Night C. Liar's Dice D. Timbuktu

86. Governor Rule was imposed in Jammu and Kashmir on 9 January 2015 under

A. Article 356 of Indian Constitution B. Section 92 of the J & K Constitution

C. Section 356 of the J & K Constitution  D. Article 370 of the Constitution

87. Union Cabinet headed by Prime Minister Narendra Modi on 5 January 2015 approved to
set up the India-based Neutrino Observatory (INO) at

A. Pottipuram village, Tamil Nadu B. Raval Village, Uttar Pradesh

C. Puttamraju Kandrika village, Andhra Pradesh D. Adamwal village, Punjab

88. Who was appointed as MD & CEO of AXIS Capital Limited on 5 January 2015?

A. Nilesh Shah B. Albert A. Benchimol C. Naba Mondal D. Jignesh Shah

89. Name the Indian industrialist on whose 175th birth anniversary, Union government
launched the commemorative stamp on 6 January 2015?

A. G D Birla B. TV Sundaram Iyengar C. Kasturbhai Lalbhai D. Jamsetji Nusserwanji Tata

90. Who won the 7th Chennai International Open Grandmaster Chess title on 6 January 2015?
A. Popov Ivan of Russia B. Dzhumaev Marat of Uzbekistan

C. Mozharov Mikhail of Russia D. Swapnil S Dhopade

91. Which country will launch the construction of five new nuclear reactors with a total capacity of 5 Gigawatts in 2015?

a) China b) Japanc) Russia d) US GUPTA
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92. Who among the following has won the 13th Parsvanth International
Grandmasters Chess Tournament?

a) Deepan Chakkravarthyb) Andrey Baryshpoletsc) Ivan Popovd) Vardan
Nagpal

93. Recently the National Immunization Day was held on....... January.
a) 16b) 17c) 18d) 19

94. Nepali Congress leader...........ccueveennnes was appointed as Nepal
ambassador to India.

a) Deep Kumar Upadhyay b) Jeebraj Koirala c) Jiji Mammend) Rukma

Shukshere Rana

95. Which country has committed to provide an Overseas Development
Assistance loan of 2620 crore rupees to India?

a) China b) Japan c) Russia d) US

96. Andrae Crouch has passed away. Who was he?

a) Politician b) Magician c) Gospel performer and songwriter d) Director

97. Ghelubhai Naik has passed away. Who was he?
a) Freedom fighter b) Actor c) Politician d) Social Worker

98. India will provide how many million dollar LoC to Guyana for road
infrastructure projects?

a) 40 b) 50 c) 60 d) 70

99. Modibo Keita has been appointed as the Prime Minister of which
country?

a) Indonesia b) Mali c¢) Turkey d) Kazakhstan

100. Australian Rodney Sturt Taylor died recently in Los Angeles. He is a

a) Actor b) Singer c) Dancerd) Director

101. Arvind Kejriwal on 14 February 2015 sworninasthe ____th Chief Minister
of Delhi?

(A) 7th (B) 8th (C) 9th (D) 10th

102. Reserve Bank of India (RBI) on 13 February 2015 said it would soon putin
circulation currency notes with the denomination of Re 1. Who will sign in the
new 1 rupee note?

(A) FINANCE secretary (B) RBI governor (C) FINANCE Minister (D)

President of India

103. Which state will host the next 36th National Games slated for 2019?

(A) Jharkhand (B) Maharashtra © Karnataka (D) Goa

104. India on 14 February 2015 successfully test fired the supersonic BrahMos
cruise missile from INS Kolkata. BrahMos has a range of ?

(A) 200 Km (B) 4500 Km (C) 290 Km (D) 300 Km

105. Which England fast bowler on 14 February 2015 took the first hat-trick of
the 2015 ICC World Cup, against Australia?

(A) Steven Finn (B) James Anderson (C) Stuart Broad (D) Moeen Al

106. Video sharing site YouTube is celebrated its ___th anniversary on 14
February 2015?

(A) 15th (B) 20th (C) 10th (D) 5th

107. Which team won the Raja Bhalendra Singh Trophy at 35th National Games,
which ended on 14 February 2015 at Kerala, for topping the overall medal
tally?

(A) Kerala (B) Services (C) Haryana (D) Maharashtra

108. Which Kerala-based business conglomerate has recently
launched the Friends for Life project (project aimed at effective
management of human-elephant conflict) in partnership with World
Wide Fund (WWF) for Nature-India?

(A) Lulu Group

(B) Muthoot Group

(C) Malabar GOLD

(D) V-Guard Group

109. Prime Minister Narendra Modi on 14 February 2015
inaugurated the " Permanent Judicial Museum' at which high court?
(A) Calcutta High Court  (B) Orissa High Court

(C) Madras High Court (D) Bombay High Court

110. India's first nation al tribal festival 'Vanaj', featuring around
900 artists across the country, recently began at?

(A) Portblair

(B) Jaipur

(C) Delhi

(D) Panaji

SECTION-D: LEGAL APTITUDE

Directions 111-113: Answer the following questions based on the statements given below :

(DThere are 3 poles on each side of the road
(ii) These six poles are labelled A, B, C, D, Eand F

(iii) The poles are of different colours namely Golden, Silver, Metallic, Black, Bronze and White

(iv) The poles are of different heights

(v) E, the tallest pole, is exactly opposite to the golden coloured pole
(vi) The shortest pole is exactly opposite to the Metallic coloured pole

(vii) F, the black coloured pole, is located between A and D
(viii) C, the Bronze coloured pole, is exactly opposite to A.
(ix) B, the metallic coloured pole, is exactly opposite to F

(x) A, the white coloured pole, is taller than C but shorter than D and B
111. What is the colour of the pole diagonally opposite to the Bronze coloured pole

(a) white (b) silver © metallic (d) golden
112. Which is the second tallest pole ?
(a) A (b) D © B (d) cannot be determined
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114,

115.

Which is the colour of the tallest

{a) Golden (b) Silver
() Bronze (d) None of these |

Directions (114-115): Answer | 116,
the: questions on the hasis of the
infarmation given hefow ;

The head of a newly formed
Government desires to appoint |

five of the six clected ministers P, | 17,
Q. R, 5, T and U to portfolios of |
Foreign, Industry and Commerce, |
Agriculture, Rural Development
and Human Resources. U does
not want any portfolio if S gets |
one of the five. R wants either
Foreign or Human Resources or |
no portfolio. Q says that if § gets '
Industry and Commerce or Rural
Development then she must get
the other one. T insists on a 119

118.

portfolio if P gets one. -

Which of the following is a valid |

assignment ?

(a) P - Foreign, ©Q - Industry and | 120
Commerce, R - Agriculure, | "™
S-Rural Development, T-|
Human Resources

(b) R - Foreign, § - Industry and
Commerce, P - Agriculture, |
)-Rural Development, T -|
Human Resources .

(¢} P - Foreign, Q - Industry and
Commerce, T - ﬁgriuullum.'
5-Rural Development, U -|
Human Resources | o

(d) Q - Foreign, U - Industry and |
Commerce, T - Agriculture, |
R-Rural Development, P -
Human Resources

If P gets Foreign and R gets

Human Resources, then which is| |54

not a valid assignmem of|

Agriculture and Rural De*.-r:lup—i

ment ?

{a) s - Agriculture, ) - Rural
Development

(b)U - Agriculture, Q - Rural
Development

(c)Q - Agnculture, T - Rural | 123,

Development |
(d}Q - Agriculture, 5 - Rural

Development |
Dircctions (116-120) : Jr cach of
the following questions, a related |
pair af words is followed by four|

UPTA CLASSES

1. Somow : Misery

pairs of words or phrases. Select | 124,
the pair that best expresses a
relationship similar to the one
expressed in the guestion pair. |
Action ; Reaction

(a) Introvert : Extrovert
(b} Assail : Defend

(<) Diseased ; Treatment
(d} Death : Rebirth

(a) Love : Obsession

(b) Amity : Harmaony

(¢) Happiness : Joy

{d} Enemy : Hatred

Drama : Audience ,

(a) Brawl ; Vagabonds

{b) Game : Spectators

(c) Ar: Critic

(d) Movie © Actors

Nuts ; Bolis

(a) Nitty : Grinty

(b} Bare ;: Feet

{c) Naked : Clothes

(d} Hard : Soft f

Book : Author I

(a) Rain : Flopd

(b} Light : Switch |
|

(¢) Symphony : Composer
(d) Song : Music
Directions  (121-125):  Each |
GrEsHion containg o statement on
relationship and a  question |
regarding relationship based on
the statement. Select the correct
opian.

Mom s daughter of Sheela.
Sheela is wife of my wife's

brother. How Moni is related to
my wife ?

(a) Cousin (b) Miece |
(e} Sister {d} Sister-in=law |

Annu is daughter of my mother's
brother Abahi. Pard is prand

Decpak said 1o Nitin, “That boy

plaving with the football is the

younger of the two brothers of the

daughter of my father's wife".

How is the boy playing football

related o Deepak

{u) Son

(b} Brother

{ed Cousin

idy Brother-in-law

Pointing to a woman m the

photograph. Rajesh said, “The

only daughter of her grandfather

s my wife”. How is Rajesh

related to that woman 7

{a) Uncle

{b) Father

{c) Maternal Uncle

{d) Brother

Directions (126-130) : Read the

information  given  below 1o

ILFWER B guestions.

(1) Karcena's dieting schedule

consists of having only one
fruit on a given day of the

week.
(ii) Dietician  has  prescribed
: banana, papaya,
pomegranate, apple  and
grapc  from Sunday 1o

Friday, one day being a
fasting day, Kareena cannot
eat any [ruit on Saturday,
(ii1) Pomegranate day is neither
on the first day nor on ihe
last day but earlicr than the

papaya day.

[iv) Apple day is on the
immediate next day of
papayva day.

(v)Banana day s on  the

immediate previous day of
the fasting day.

daughter of my mother. Pan (vi) Apple day amd grape day
should call Annu as : must have a gap ol two days
(a) Matermal Aunt between them.

() Sister (vit) Grape day is the day
(¢} Cousin immediately following the
{d) Niece Fasting day.

Markandey is Rajiv's mother's| 336 which of the following is the
tather. Markandey ﬂlu lh;cc fasting day ?

bruthers. One of them has

grandson Abhi. Rajan is son of | :;; ?fi{

Abhi. Rajan is related to Rajiv as; | (€)W :dm.-r:da

{a) Brother {b) Nephew (d) Thursday !

{c) Cousin i{d) Uncle '
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Banana day and apple day have a

gap of how many days between

them |

{a) One

(k) Two

{¢) Three

{d) Four

Which day is grape day 7

(a) Monday

(b) Tuesday

{¢) Thursday

(d) Sunday |

Which day is pomegranate day 7

(4) Sunday

(b) Monday

(c) Tuesday

(d) Wednesday

Which of the following is the

correct statement 7

(a) Apple day is after papaya day

(b) Banana day is on Wednesday

(c) Fasting day is on Tuesday

(d) Papaya day is earlier than
banana day .

Directions  (131-135) : Each |

qUESIon  CORMINS  one  statement |

and two courses of action I and I

Assuming the statements to be rrue,

135.

1:.As a result air, water and soil |
pollution have come down. I

II: Increasing  production  of
automobiles, refrigerators and |
fertilisers do not affect our
environment,

|134 Statement : School dropout rate | uz

is very high in the rural areas as |
‘children support their parents :I1|
income earning activities.

I Public awareness programme |
on primary education should be
expanded  immediately 1o
educate parents,

Il ; Compensation is not a |

remedy. .

Statement : Smoking is one of |

those human weaknesses which

tend to test the will power of the
smoker of the edge. |
T:It is very difficalt for the |
smoker (o give up smoking |
even if they want to doso. |

Il: Human beings have other
weaknesses as well.

Directions (136-140) : Complete '

the series by choosing the correct |
uplfon, '

decide which of the two courses of | 136, 0,1,1,2,3, 5,8, 13.21.7

action most fogically follows. !
(a) IT only | follows

(b} If only 11 follows

(c} If either 1 or 1l follows
{d) If neither I nor 11 follows '
Statement : Indian children are
very talented but are instead weak |
in science and mathematics.

| : Teaching and texibooks are
not available in  mother
language.

IT: Education based on |
experiments  in both  the
subjects is lacking.

Statement : Despite of child

labour laws, children can be seen |

working in hotels, shops, hﬂLL‘iW'

very frequently,

l: The government shoold not
make such laws which cannot
be enforced.

Il : A proper education system for
the primary level pnm:uluﬂy.
for lower caste community |
may cradicate this problem.

Statement : Kyoto protocol on

environment is signed by almost

evéry country of the world.

GUPTA CLASSES
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{a) 34 (b) 35
(c) 33 id) 36 .
A-10,E-151-200M-257 |
2)Q-5 (LQ-30 (c)P- |
0 (dR-30 '
17, 36, 74, 150, 7, 606

(a) 250 (b) 303

(c) 300 (d) 302 |
2, 1,4, 3.6,5 8,7 |
(a)9 {b) 10

(c)7 (d) &

1,4, 27,256, 7 -
(@) 625 (b) 3125 .
{c) 3025 (d) 1225 :

Directions (141-145) : Iy cach
guestion  below  are ghen o |
statements  numbered I-ﬁmf I

You have to take the, rwo gnm. 1

statements as true eyen i they !
seem 1o be ar variance with |
commonly known facts, Read all|
the conclusions and then decide
which of the given conclusions |
logically follow from the given |
statements, disregarding commonly |
knewn facts, '

141, 1: All vegetables have gravy.

112 All lunch has vegetable,
(a) All lunch has gravy

(b} All gravy has lunch

{c) Both (a) and (b)

() None of the above

I Karan Johar is a good director.
11 : Directors are intelligent.
(a) All intelligent are directors
(b) Karan Johar is intelligent
() Both (a) and (b)

{d} None of the above

. 1: Some blues are green.

11 : Pink is green.

() Some blue is pink

(b) Some green is pink

() Either (a) or (b) follows
(d) Some pinks are blues

. 1: All boys are tall.

11 : All Punjabi are tall.
(a) All boys are Punjabi
(b) Some bays are Punjabi
(¢} Both of these

{d) None of these

45. 12 All girls go to the college.

IT: Rina does not go to the
college,
(a) Rina is not a girl
(b) Going to college s
essential to be a girl
{c) Rina is a girl
(dd) None of these
Directions (146-150) : Read the
information  given below  to
answer the guestions.
A.B,C,D,E, F,Gand Hwant to
have a dinner on a round table and
they have worked out the
following seating arrangements.
(1) A will sit beside C

(1) H will sit beside A

(111) C will sit beside E

(iv) F will sit beside H

(v) E will sit beside G

(vi) D will sit beside F

ol

"I G owill sit beside B
(il B will sit beside D
46. Which of the following is wrong ?

(a) A will be o the immediate
right of C

{b) D will be fo the immediate lefi

of B

ey E will be o the immediaie
right of A

{d} F will be 1o the immediate left

of [
GUPT
CLASSES



147. Which of the following is correct ?

151.

* conclusively assume them o he

(a) B will be to the immediate left
of T

(b)H will be 1o the immediate
right of A

(c) C will be to the mmediate
right of F

{d) B will be to the irmmediate left
of H

148,

A and F will become neighbours if':

{a) B agrees to change her sitting
position

(b) C agrees to change her sitting
position

(¢) G agrees to change her sitting
position

(d) H agrees to change her sitting
position

149.

150.

During sitting :

(a) A will be directly facing C
(b} B will be directly facing C
(c) A will be directly facing B
(d) B will be directly facing D

SECTION - E : LEGAL APTITUDE

Directions  (151-200):  This |
section  consists  of fifty (50)]
questions. Each question r:ansimll
of legal propositions’ principles |
fhercinafter  referred 0 ax)|
‘principle’)  and  facts. These|
principles have 1o be applied to the |
give- facis to arrive al the most|
principles may or may not be true |
in the real sense, vet you have 1o

true for the purposes of this section.
In other wards, in answering the
Jollowing questions, you must not |
rely on any principles except the |
principles that are given herein
below for every gquestion. Further
VO mMST mor assume any  facts
other than those stated in the
yuestion,. The objective of this
section I8 o fest your imberest
fowards study of law, research
aptitude and problem solving
ability even if the “mosi reasonable
conclimion” arrfved at may be
unecceplable for any other reason.
It is not the objective of this section |
1o test your knowledge of law. '
Frinciple : When an offer is|
accepted by a person to whom it is |
made, it becomes a promise. Buti
this promise will become legally
binding only when the acceptance
of the offer 1s unconditional.
Facts : Ram makes an offer to sell
his house to Shyam for ¥ 50 lacs.
Shyam accepts this offer but wants
to pay the price of the house in five
quarterly instalments. Ram does
not agree to it. Thereafter Shyam
agrees o pay the price of the house
in the way as onginally desired by
Ram. But Ram does not reply to it. |
Can Shyam compel Ram to sell his
bouse to him 7 |

GUPTA CLASSES
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(&) Shyam can compel Ram 1o sell | |
his house because Shz.-'amt
ultimately agrees to pay the
price as originally desired h:.-':l
Ram i

(b) Shyam can compel Ram to|
sell his house because Shyam'|
in the first instance|
substantially complied with
the desire of Ram

(¢) Shyam can compel Ram to sell
his house because Ram's offer
does not exclude the payment
of price in instalments

{d) Shyam can not compel Ram to
scll his house because Shyam
imposes a new condition
about payment of price of the
house while accepting the
offer which is not ultimately
accepted by Ram

Principle : Cenerally &n
agreement without consideration
is nol valid. Therefore, in order to
make a valid agreement, some
consideration which may have
some value in the eves of law, ns|I
essentially required.

Facts : William has an old car ul'

which he makes seldom use. He

voluntarily enters nto  an
agreement with Smith 1o gell this
car for rupess ten thousand.

Thereafter one Anson approaches

William and offers 1o buy that car

for rupees one lac as the car was

on¢ which Anson has been
searching for long. Now William
wants 1o cancel his agreement
with Smith and refuses to deliver
the car to him saying that
ponsideration {pﬂmi for the car
promised by Smith is nq;hg,thle
and, therefore, agreement Wll.'h-
him can not be said o be val1d'|
one. |

lﬂ"

H will be sitting between :
(a)CandB (b)AandF
) Dand G - (d) E and G
(a) Williama c¢an cancel his

ggreement with Smith as the
consideration involved in that
is really inadequate

(b} Williarn can not cancel his
agreement with Smuth as the
sale of car for rupees ien
thousand was voluntary and
this price has some value in
the eyes of law

(c) William can cancel his
agreement with Smith as he

was ignorant about the
vialue/pri of the car for
which it could be sold

(d) Willlam can cancel his

agreement with Smith as he is
entitled to get full market
value/ price of his car
Principle : In order to be eligible
lp appear in lhe - semesler
examination, a student is required
to atend, under all cirrcumstances,
al least 70% of the total classes
held in that semester as per
Liniversity rules.
Faets : Anand, an economically
poor but a very brilliant student of
L.L.B. final semester, while going
to his  University by cycle
received some leg injuries in road
accident. Consegquently Anand
could not attend his classes for
one week as he was advised rest
by his doctor for that period. Due
o this absence from the
University, Anand failed to have
70% attendance essential to
appear in the examination and,
therefore, he was debarred from
appearing in the examination by
the Uiniversity authorities. Anand
challenges this decision in the
court of law.,
(a) Anand will succesd in the
couri of law as the accident
was beyond his control

GUPTA
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(b)) Anand will definitely  get
favour of the court on
humanitarian ground as he
comes from a economically
poor family and may not
alford o ake readmission

() Anand will not succeed as he
could wvery easily fulfil
ehigibility  crilena for |
appearing in the examination |
by being reasonably regular in f

the class throughout the
semester

{d) Amand will socceed as |
requirement of 70% |

attendance may be declared
arbitrary  and, therefore,
unreasonable b,v the court of
law
Principle : A sellcr of goods
cannof transfer better rights than
he himself possesses in the goods
sold to the buver.
Facts : Komal leaves his watch by
mistake on a seal in the park, Sonal |
finds that watch and immediately
sells the same [or good price o
Monal who without inquiring |
whether Sonal s ils owner or nol. |
Komal later on claims that waich |
from Monal. Decide whether|
Komal can succeed.

(o) Komal cannol succeed II:E-|
Monal has paid goud price of |
the watch

(b) Komal cannot succeed as|
Monal is unaware of the fact |
that Sonal is not its owner

(c) Komal can not succeed as il
was his carelessness and|
nothing else which enabled |
Sonal 10 sell the watch to
Monal

(d) Komal ¢an oot succeed as
Sonal is merely finder of the
watch and, therefore, cannot
transfer ownership righis
thereon to Monal

Principle : All citizens shall have

the Fundamental Right to carry on

any occupation, trade or business.

Bui reasonable restrictions on &ml

exercise of such n,giula can be|

imposed by law in the interest of
the gtneml public.
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Facts: A large number of
persons had been carrying on the
business of dyeing and printing in
Rajkot arca for the last 25 years |
providing employment to about |
30000 families. From these|
business places unireated dirty
waler was being discharged on
the roads thereby causing damage |
to the public health. A notice, |
therefore, was given to close this
busincss nll necessary measures
to protect public health as
provided under the environmenial
stabutes were taken by those
business men.

{a) Motice can not be justified as it
will cause loss of employment
to 30000 fammlies

(b} Notice can nol be justified as
it amounts to violation of the
Fundamental Right of l.hcl
persons who have been
carrying on the business ﬁ:rr
the last 25 years

{¢) The notice can not be just I':h.l
on the ground of damage m-
public health as the persons in |
that area have been voluntarily
residing for long and I:uw::l
become used 1o that|
environment

(d) The notice can be justified as
the right to business 15 not |
absolute  and  reasonable |
restriclion cin be '
imposed by law in the i mu:ml
of the public

Principle : A contract can not h::|

enforced by or against a person |

wha 15 not a party to it flowever,
where some benefit is conferred
on third party by the cnmm.,:-
isell, there third party can 1:|-|:,
allowed to enforce that contract o |
et such benefit.

Facts : Dinesh is liable 10 pay
2 50,000/~ to Suresh, In order to
discharge this liability If?m:sh
enters  into a  contract  with
Ramesh by which Dinesh sells his
car o Ramesh for ¥ | lac, Ramesh
takes the delivery of the car and |
promises/assures to pay its price |
at the carliest. Dinesh separately
informs Suresh about this contract

&

S

157,

for his sansfaction, Ramesh fails to

pay the car’s price. Suresh wants

1o join Dinesh in filing suit against

Ramesh for the recovery of price

of the car. Whether Suresh is

entitled to do a0 7

(a) Suresh is entitled w0 do so
because the contract was made
for his benefit

(h) Suresh is entitled w do so
because Dhnesh s liable to
hin and discharge of this
liabality depends upon  the
payment of the price of the car
by Ramesh

{c) Suresh is not entitled to do so
becuuse liability of Dinesh
does not depend upon any
assurance of Ramesh

{d) Suresh is not entitled to do so
because he 1% not a party 1o the
coniract between Dinesh and
Ramesh

Prineiple : If a contract is made
by post belwecn two persons
living in two different cities, then
the contract s said to be complete
as s00n as the leller of acceptance
15 properly posted, and the place
of completion of the contract is
thal eity where acceptance is
posted. It is worth mentioning
here that in every contract there is
always an offer from onc party
and the acceptance of the offer
from the other party.

Facts : Sani, a resident of Patna,
gives an offer by post to sell his
house for ¥235 lacs to Hani, a
resident of Allahabad. This offer
letter is posied on 1st January 2013
from Patna and reaches Allahabad
on Tth January 2013. Hani accepts
this offer and posts the letter of
acceptance on Sth January 2013
from Allahabad which reaches
Patna on 16th January 2013, But
Sani presuming that Hani is not
interested in accepting his offer,
eells. hizs house to Ganl at smme

Jprice on 15th- of January, 2013

vooFani files o suit against Sanmi for

e breach of contract
eimpetent court of  Allahabad.

inn the

Whéther Hani will succeed ?
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{a) Hani can not succeed as Sam |

can not be compelled by law (o
wait for the answer from Hani
for an indefinite period of time
(k) Hani can not succeed as he
could nse some other effective
and speedy mode for
communicating his
acceptance  in minimum|
possible time .
(¢) Hami can succeed as  he|
properly posted the letier of
acceptance and the delay was |
beyond his control I
{d) Hani can succeed ds contract |
became complete in the eves |
of law on the date of posting |
the letter of acceplance
Principle : He, who goes w tlm
court of law to scek justice, musi |
come with clean hands,
Facts : P enters inte 8 contract |
with 5 under which § has 1o
construct a house for P and has to
complete the same within one |
wiar from the date of the contract. ,
This contract includes two '.r-.*q,-'
riant  lerms, Aumrdmg to
first term if there is price hike ut'|
the materials W be used in the
construction, then the e:u:aLulmni
charges at a partcular rate shatli
be payable by I to 5. According
to second term if the construction |
of the house is not compleied
within the period prescribed forit, |
then S will have to pay penalty at
a particular rate 1o P. Before the
completion of the construction |
work the workers of S goon simike |
and strike continues up o three |
months ¢ven after the expiry of |
ome  year. Afier , that  penod |
workers  return  and.  the!
construction work agamn sturs, |
During the last three months |
penod of strike there was a|

considerable rise in the price of |

the building material. § claimed |
cscalation cost from P. P did not |
agree to it S filed a suit in the
courl of law either 1o order the

payment of the pricé of the
building material on the basis of |

escalated price or o allow him o
stop the work sithoot incurring

any penal liability rowards P,

GUPTA
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(4} 5 will succeed as strike by his | 160, Principle : Whosocver by his act

workers was unexpected and
hevond his control |
ib) 5 con succeed as there is an

escalation  ¢lause in  the
COontract

() 8 can not succeed as he has |
failled  to  complete  the |

construction work in time and
strike can nod be treated as a
vilid excuse for delay in work |
(d}5 can succeed if he pays
penaley to P for delay ,
Principle : If the object of an
agreement 1s or becomes unlaw il |
or immoral or opposed to public |
policy in the eyes of law, then the |
courts will not enforce such
agreements. Law  generally |
prohibits Child labour.
Facts : ' enters into an agreement |
with T by which P has 1o let his |
house to T for two years and T has |
W pay T 20,0000.00 per month to P |
as rent. T s1ans a child care centre
in that house. But after some time |
in order to eam some money for |
the maintenance of the centre, T |
starts sending the children of the |
centre on the rotation basis o |
work for lour hour a day in some |
nearby chemical and hazardous |
factories. When P comes w0 know |
about this new develgpment, he |
asks T either to stop the children |
from working i factorics or to |
leave s huse immedimely, T
neither agrees 1o leave the house |
nor 0 sop the children from |
working in the Gictories, P files a |
suit in the court of law ﬁ:lr|
approprate reliefaction. |
(a)P can not succeed as the|
agreement was for the two
years and il can not be|
_ lerminated before the rnpury

o that period

TI:I:I- P can not suceeed as the u]:grcc! ;
at'the time of making of the |
"agreement was not clear
() Pwill succeed as the object of
the agreement has become
unlawiul
(dy P will not succeed if T agrees
to share the wages of the

children with P |

—

1a6l.

OF OIMission causes environmental
pollution shall be held liable for
any loss caused by such pollution.
It shall be no defence in such
cases that all due diligence or
reasonable care was taken while
carmying out the act or omission in
question.

Facts : Han is camrying on @
chemical and fertilizer industry
near a bank of a river. In order 1o
prevent and control any kind ol
harm to the environment, suitable
waste treatment and  disposal
plantis  were installed in the
factory, Dug to some sudden
mechanicaltéchnical  problem.,
these plants ceased 1w work
properly and, therefore, caused
environmental pollution, which
ultimately  caused  substantial
harm to the environment and to
the people hving around the
factory. Victims of such pollution
file a suit for suitable remedy.

() Victims can nol succecd as

NEcessary precautions 1o
prevent any harm were taken
by Hari

(b Victims can not succeed as the
mechanical/lechnical problem
wys sudden and, therelore,
bevond the contral of Han

{¢) Victims can succeed as 1115 the
duty of lan w see thar no
harm s  cauzed (o, the
environmentpeople due (o his
aclivily uider any
CIrcumstances

(d) Victims could succeed if
treatment/disposal plant were
not installed in the factory

Principle : I a person transfers

movable or immovable property

with its full owncrship and without
any consideration 10 some other
persomn, then it is called a gift,

Facts : 5, who has no child of hus

own, makes a gift of his house

morth T 25 lacs to his nephew K.

After completing all the legal

formalities required for a valid

gift. 5 sovs to B that in casg of

necd R will provide that house o

5 for use without any questions. R
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does mol react o it. After one }'mrl

of this gift, S really needs that |

house and request R 1o make the |

house available to him, but R

refuses o do so. .

(a) R cannot refuse as he got the
house without paying any
eonsideration for that

{b) R cannot refuse as 5 is

without children

(¢) R can refuse as he has become
full ownier of the house

()R can refuse as he himself
may be in need of that house

Principle : An agreement to do
an act impossible in itself cannot |
be enforced by a count of law,
Facts : Ramesh agrees with his
girl friend Shilpa to pluck stars |
from the sky through his|
extraordinary. will power, and|
bring them down on earth for her|
within a week. Afier the expiry of |
one. week, Shilpa filed a suit for |
damages against Ramesh for the
breach of contract as Ramesh
tailed to perform his promise.

(a) Shilpa can succeed in getting
damages as Ramesh has
deceived her

(b) Ramesh cannot be held lLiable
as he honestly believes that his
love for Shilpd is true and,
therefore, he will succeed in
his endeavour,

{¢) The court cannot entertan such
suits as the act promised under |
the agreement is impossible in |
iself

(d) Ramesh can be held liable for|
making an absurd promise |

. Principle : An agrecment may be |
oral orwritten. However, if a law |
specifically requires that an|
agreement must be in writing then |
the agreement must be m writing,. |
A law specifically requires that |
the agreements relating to transfer
of the copyright in novel between |
an author of a novel and the
producer of a motion picture must |
be in writing.

Facts : The author of a novel,

Love at Lost Sight, had several |

rounds of discussion with a|
|
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producer of motion picture
regarding making of a motion
picture based on Love at Lost,
Sight. During the last discussion, |
they decided to make a motion
picture om Love at Lost Sight. The |
producer made a motion pinture!
on Love at Lost Sight after |
making a  payment  of
T 10,00,000/- (Ten Lac only) n
cash to the author who happily |
accepted this amount as full and |
final payment. Later on, on the |
advice of his lawyer, the author
brought a case in a court of law
against the producer on  the
ground that there is no written
agreement between the producer
and him. , |
{a) The author is likely to succeed
i the case as the agreement is
not in accordance with the law
(b) The author cannot succeed in
the case as he has given his|
consenl (o the agreement |
(c) The author is not likely 1o
succeed in the case because he |
has already accepted the
amount of T 10,00,000/- as |
full and final payment |
(d) The author can succeed in the |
case as the consideration is not
adequate
Principle : A person is said to be |
of sound mind for the purpose of |
making a contract if, at the time
when he makes it, he is capable of
understanding it and of forming a
rational judgment as to its effect
upan his interest.
Facts : X who is usually of sound
mind, bul occasionally of
unsound mind coters into a
contract with Y when he (X) is of
unsound mind. Y came to know
about this fact afierwards and
now wants to file a suit against X. |
{a) X cannol enier inlo contract |
because he is of unsound mind |
when he entered into contract |
(b) X can enter into contract but |
the burden 18 on the other|
party to prove that he was of |
unsound mind at the tme of |
coniract

(c) X can enter intiy contract but
* the burden is on X to prove
that he was of sound mind at
the time of contract
(d) Mone of these

Principle: Whosoever commits
any act forbidden by the Indian
Penal Code with a view 1o obtiin
the consent of any person to enter
into an agreement, he cannot et
the agreement enforced by law
but the person whose consent has
been 50 obtained may get the
agreement enforced by law. The
Indian Penal Code defines
various offences and prescribes
punishmenis therefor.

Facts : A obtains the consent of B
o enter into an agreement by an act
amounting o crimimal intimidation
under the Indian Penal Code. A
brings a case aganst B for
performance of agreement

(a) A will succeed in the case

(b} A may succeed in the case
(c) B will succeed in the case

{d) B will not succeed in the case

| 166. Principle : A contract between

the father and his son is a contract
of utmost good faith. In such a
type of contract law presumes that
at the time of entering into the
contract the father was in position
to dominate the will of his son.
Where one of the parties was in
position 1o father was in the will
of the other party. the contract is
enforceable only at the option of
the party whose will was so
dominated,
Facts : Ram had advanced a sum
of T 10,006/- to his minor son
Shyam. When Shyam became
major, his father Bam misused his
parental position and entered into
an agreement with Shyvam and
obtained a bond from him for a
sum of T 30,000/ in respect of the
advance. Whether this agreement
is enforceable 7
(a) The agreement is enforceable
against Shyam only « for
T 10,(dM)/ -, the actual amount
of money advanced to him.
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(b} The agreement is enforceable |
against Shyam For T 30,000/ - |
because he has signed tt‘m!
bond

{¢) The agreement is enforceable
against Shyam because he was
major at the tme of agreement |

{d) The agreement is  not
enforceable against Shyam
because Ram has misused his |
position as futher to obtain an |
unfair advantage 3

Principle : When at the desire of

one person, any other person has

done or abstained from doing
something, such act or abstinence |

or  promise  is  called 4

consideration  for the promise,

Only a promise coupled with

consideration is enforceable by

law,

Facts ; X, the uncle of Y, made a

promise o pay him an amount of

T10,0000- as reward if ¥ quits

smokimg and drinking within one |
year, X also deposited the above
mentioned amount in a bank and
informed Y that the said amount
will be paid w0 him if he quits |
smoking and drinking within one |
year. Within a period of six |

months of making the promise X

died. Afier the expiry of one vear

of making the promise by X, Y|
made a request 10 the legal heirs |
of X demanding the promised |

money. The legal heirs of X

declined the request of Y,

(a) The promise of X 10 Y is|
enlorceable by law because Y |
has  quined smoking and |
drinking

(b) The promise of X 10 Y is not
enforceable by law becmse Y
has  benefitied by quitting |
smokmg and drinking i

{c) The promise of X 10 Y is|
enforceable by law becaise the
amount of T |04 - has been
deposited in a hank I

(d) The promise of X 0 ¥ is|
cnforceable by luw becanse X
has died within a perigd of six
munths of making the promise

Principle : “Work” means literary |

work, artistic work, irainatic |

work. musical " work,
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cinematographic film and sound
recording but dees not include
acuing in a cincmenographic fln, |

Omly the works, as enumerned |’

above, can be prolected under
copynight law. _
Facts : A very famous actor acted |
n & cinemato-graphic film. The |
actor was also the producer and
director of cinematographic film.
(a) The acting of the actor can be |
protecied under copyright law
ib)-The acting of the actor can be |
protected under copyright law |
only as an artistic work
{¢) The acting of the actor cannot
be protected under copyright |
law ,
(d) The acting of the actor cannot
be protecied under copyright
law as a cinematographic film,
Principle : In casé where the |
Bovernment 15 a party, the|
government shall be the first
owner of the copyright in the
work unless there is an agrecment
to the contrary.
Facts : The Government of the

State. of X entered into an
agreement  with a  retired
Professor  of  Botany,  The

Professor agreed to write a text

the copyright transfers all the
property rights to the assignee.
Property right is a bundle of rights
consisting of right 1o possess,
right to use, right to alienate and
the night to exclude others.
Facts : A, an owner of copyright
in a cinematopraphic film enters
into an agreement with B, a film
distributor. B agrees o distribute
the film only in Mumbai. A also
enters into many such agreements
with  other  distributors - for
distribution of his film in other
ciles.

(a) The agreement between A and
B 15 more in the nature of
assignment than in the nature
of licence

(b} The agreement between A and
B is more in the nature of
licence than in the nature of
assignment

() The agreement between A and

- B is both in the nature of
assignment and licence

(d) The agreement between A and
B is neither in the nature of
assignment nor in the nature
of licence

book on Botany. The Government 171. Principle : Qui facit per alium

agreed w pay a sum of 2
FO0,000/- to the Professor for |
thiz work.

(a} The Guvernment of the State
of X shall be first owner of
copyright in the text book

(b) The Professor shall be first
owner of copyright in the rext
book '

{c) Both the Government of the
State of X and the Professor
shall be the joint owners of
copyright in the 1ext book

{d) The Professor shall be first
owner of copyright in the text
ook only if he refuses to

accept  the amount of ¢
100,061, THp/- from the |
Covemmeni

Principle :  Licence is  an
agreement whereby the owner of |
the copyright aprees 1o grant an
interest in the copyright to the |
licencee.  Assignment s an |
agreement whereby the owner of|

—

Sacit per se, ie, he who does

things dhrough others docs it

himself,

Facts : Nisha, the owner of a car,

asked her friend Saurabh 1o take

her car and drive the same to her

office. As the car was near her

office, it hit a pedestrian Srikant

on account of Saurabh’s negligent

driving and injured him seriously,

Now Srikant files a swit for

damages against Nisha.

(a) Nisha is not liable as it was the
negligence of Saurabh

(b) Saurabh s solely liable as
Nisha was not driving the car

(¢} Nisha is liable as Saurabh was
driving under her authonty
and for her purpose

(d) Saurabh  will be exempied
from liability under the
principle  of  inevitable

accident G UEEAS
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Principle: Words
quality of things cannot hi.‘:
registered a5 trade  mark. |
However, such words may be|
registered as trade mark if they
acquire a secondary meaning.
Words acquure secondary
meaning  when  people  start
associating the descriptive words |
with a person specific.
Facts : A hatchery located in|
Eaipur 15 owned by “X°, X has
been using the slogan “new laid
epes sold here” since 1970 to|
describe the quality of eggs sold |
in his hatchery. Over a period of
time beeause ol continuous use ol
this  slogan, people started |
associating this slogan with X. X
filed an  application  [lor
registration of the words “new
laid egps™ as trade mark in the
year 1970,
(a) The words will be registered
us trade mark
(B) The words will
« registered as trade mark

{¢) The words may be rcgish:rcdl

as trade mark
(d}) The words may not be
registered as trade mark
Principle : Whoever takes away |
anvthing from the land of any |
person  withowt that person’s|
consent 15 said o commit theft, A |
thing so long as it is attached 1o |
the carth is not the subject of theft; |
but it becomes capable of hr:mg
the subject of theft as soon as it :a.|
severed from the earthe |
Facis: Y cuts down a trec)
standing on the land of X with the
intention of dishonestly taking the
tree oul of X's possession without
the consent of X. But Y is yet 1o
take away the trec outl of X's
POSSCssION,
{a) Y has commuitted theft as soon |
as he came o the land of X |
(b1 Y has committed thel as soon |
as  the tree has  been |
completely cut down by him |
{¢) Y has committed theft as soon |
as he has started cutting down |
the tree
(d}Y has not committed thefl
becuuse he is yet o take away
the tree oul of X5 possession
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deseribing | 174, Principle :

-operated for the removal of her |

nol  be

res ipsa loguitur ie., :
the thing speaks for itself.

Facts: Secma got hcm:!l'l

I
uterus in the defendant’s hospital, |
as there was dingnosed to be a)
cyst in one of her ovaries. Due the |
negligence of the surgeon, Whn|
performed  the  operation, |
abdominal pack was lefl in her |
abdomen. The same was removed
by a second surgery.

(@) Surgeon  cannot  be  held
responsible  because it s
merely a human error

(b) Surgeon can  be held |

responsible but Seema will |
have to prove in the court of |
law that the surgeon was
grossly negligent

{¢) Surgeon will be responsible |
and Seema need not 1o prove |
surgeon’s negligence because |
presence of abdominal pack in |
her abdomen is sufficient |
proof therefor '

{d) None of the above

175, Principle : Whocver takes away |

with him any minor person less |
thin sixteen vears of age if'a male, |
or less than eighteen years of age

if a female out of the keeping of | -

parents of such minor person
without the consent of such
parent, 1s said to kidnap such
FINTHAR lm‘ﬂﬂﬂ

Facts : A female bom on January
01,1995 got admitted 1o an|
undergraduate  program of a
réputed  University on July 01,
2012, She became friendly with
one of the boys, bom on June |
(01,1994, of her class, The boy and
the girl decided o mamy. The
parents of the boy agreed but the
family of the girl did not agree. On
December 15, 2012 the girl madea
call rom her Blackberry 10 the
boy. The girl told the boy to come |
in his car at a particular place H.I'Lll:ll
time. The boy reached lhe
stpulated  place  before  the |
stipulated time. He waited there
for ahout hall an hour. The gird
reached the stipulated place. She

176,

177.

opened the door of the car and sat

beside the boy who was on the

driving seat. Without exchanging

any pleasantries, the boy drove the

car to an unknown place. The

father of the girl lodged an FIR in

the nearest police station on

Januacy 20, 2013,

{a) The boy has committed the
offence of kidnapping

{b) The boy has not commiticd
the offence of kidnapping

{ch '!1n=h-n:.r has not committed the
offence of kidnapping for
there is a delay i filing the
FIR

{d) The boy has not committed
the offence of kidnapping

becanse the pgirl was lus
classmarte
Principle : Whoever voluntanly

has carmal intercourse against the
order of nature with any man,

woman.  or animal shall be
punished.
Facts : Two adult men were

found engaged in  camal
intercourse by the police. The
police arrested the men and
produced them before the Court.
(a) Count will punish the police
ollicer who arrested the men
(b) Court will not punish the men
for they were adults
() Court will punish the men
(d) Court may be requested to
declare the law
unconstitutional
Principle : Wherever the causing
of a certain effect, or an attempt 1o
cause that effect, by an act or by
an emission, is an offence, it is w
be mﬂ:-rﬂn-nd that the causing of
that effect partly by an act and

partly by an omission is the same
offence.

Facts : A intentionally omitted to

give food to hus father. He also

used 1o beat his father

Consequently A's father died.

{a) A did not commit any offence

(b} A committed only the offence
of omitting to give food to his

father
GUPTA
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(€) A committed only the offence |

of beating of his father :
(d) A committed the offence of |

killing of his father .
Principle : Nothing is an offence |
which is done by a child under |
seven years of age. .
Facts : A, a cluld bomn on January |

01, 2005 killed another child 'B°| 181

on December 30, 2011,

{a) A has commutted no offence

(b} A has committed the offence |
as it is heinous crime

() Killing of one child by another
child 15 not an offence

(d) A has not commited the
offence for on the dale of
killing of B, A was a minor

Principle : A pact, other than a

pact o cammit swicide, W suller

any harm is not an offence,

provided the age of the person |

who has given his consent to|

suffer harm is above @ghteen

VEATS,

Facts : A enlers inlo a pact with

B, a boy of less than 1% years of

age. 1o fence with each other !'nrl

amusement, They agreed to suffer

any harm which, in the course of

such fencing, may be caused

without foul play.

{(a) A, while playing fairly, hunsi
B, A commmits no offence |

(by A, while playing only
unfairly, hurts B, A commits |
an offence

{c) A, while playing fairly, hurts
B, A commits an offence

{d) A, while playing unfairly, huns
B, A comimils no offence |

180. Principle : When an act, which

would otherwise be an offence, is |
not that offence by reason of the
youth, the want of maturity of
understanding, the unspundness
of mind or the intoxication of the |
person doing that act, every
person has the same right of)
private defence against that m:t.l
which he would have if the act
were that offence; Nothing 'is an |
offence which is done mw the
exercise of the right of 'pn'lrutci
defence,

Faets : A, under the influence of |
madness, attempts o kill B. B in|

GUPTA CLASSES

182,

onder to save his life caoses
grievous hur fo A,
(a) A has committed an offence
(k) A has not commitied an
oflence
(¢) B has commitied an offence
(UyB has not commined any
offence
Principle : Mere silence as 1o
facts likely to affect the decision
of a person to enter inlo a contract
does not amownt o frand, unless |
his silence s in itselfequivalent to |
specch. .
Facts : A sells to B a horse which |
A knows 1o be of unsound mind.
B says to A that if A does not say
anvthing about the state of mind
of horse, then B shall presume |
that the horse is of sound mind, A |
suys nothing to, B about the
mental condition of horse, |

(4) A has committed fraud !

(b A has committed |
misrepresentation
(c) There cannot be a fraud

because A says nothing about
the memal condition of the
horse
{(d) There can not be a frand
because B did not ask A
whether the horse is of sound |
mind : _
Principle : Whoever by words, |
either spoken or written brings or |
attempis o bring into hatred or/
contempt, OT eXCIES oF attempis 1o
excite disaffection towards the
Ciovernmment cstablished by luw in
India shall be punished. THowever,
commenis expressing disapproba-

tion of the administrative or other |
action of the Government without |

exciting or allempling 1o excite
hatred, contempt or disaffection,
do not constitute an offence.

Facts : A renowned Professor of
Economics wrole a  critical
comment. on  the economic
policies of the Government of

India in a National Daily. This |

piece of wrniing generated
academic debate not only in the
print media but also on television
and internet. A student of law
asked the fellow Indians on @
social networking  website o
assemble at a particular place for
peaceful and silent demonstration |
against the said economic policies |

183,
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on a stipulated date and time, The

crowd assembled al that venue

and started  shouting  anu-

government  slogans.  Police

arrested the professor.

{a) The professor has conunited
the offence

(b) The professor has  not
commitied any offence
(c) The  swdent of law  has

committéd the ollence
{d} The crowd has commitied an
offence
Principle : Where two or more
persons bave made a complaint
for the pgrant of compulsory
licence w the Copyright Board,
the licence shall be granted to that
complainant only who, in the
opinion of the Copynght Board,
wiould best serve the imerests of
the general public.
Facts : Four persons made a
complaint for the grant of
compulsory  heence o0 the
Copynight Board.
{a) Licence shall be gramed o
orly one complainant
(b) Licence may be granted to two
complainants
{c) Licence may be granied to
three complainants
(d) Licence must be granted (o all
the four complainants
Principle : Any police officer,
not below (the rank of a
Sub-lnspector, may, if he is
satizfied that an offence in respect
of the infringement of copyrght
in any work has been, is being, or
is hikely to be, commilted, seize
without warrant, all copies of the
work, and all plates used for the
purpose of making mfnnging
copies of the work, wherever
found, and all copies and plates so
seiged  shall, as  soon  as
practicable, be produced belore a
Magistrate.
Facts : A Superintendent of
Palice (SP) conducted a raid on a
shop and found pirated copies of
kooks, The SP formed an opinion
that infringement of copyright is
taking place. He arrested the shop
owner without warrant in the light
of above mentioncd proposilions,
{a) The amest of the shop owner
was within the power of the

SP
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{b) The arrest of the shop owner |
was not within the power nf'
the SP ,

{¢) The shop owner can never be
arrested

(d) SP was not competent o |
know whether infringement of |
copyright has taken place |

Principle : Whoever attempis 1o |

commit an offence punishable by |

the Indian Penal Code and in such
attempi does any act wwards the
commission of the offence, shall
be  punished. Stealing is an
offence punishable by the Indmnl

Penal Code.

Facts : A makes an attempt to

steal some jewels by breaking |

open a box, and after so opening |
the box, finds that there is no
jewel in it

{a) A has committed no offence

{b) A has commiticd the uffenccr
of stealing

(¢} A has attempted (o commit the
offence of stealing

(d) None of the above !
Principle : Whoever by words
cither spoken or intended 10 be
read, or by signs or by visible |
representations,  makes  or)
}'Illh|ihi‘l!'£ any  imputation
concerning any person intending
to harm, or knowing or having |
reason 0 believe that such
imputation  will  harm,  the |
reputation of such person, 15 said
to defame that person.
Facts : In a community there i.v.ul
custom of stealing shoes of |
bridegroom during the mnrnugl:
ceremony. The shoes of the|
bridegroom were stolen by Y. *A”
announced that £ has siolen the
shoes! Evervone present in the |
marmage party started staring at Z |
with great surprise, 2 felt very
ashamed,

(a) A defamed 7

(b) A did not defame 7

(c) A defamed Z for Z feli very
ashamed

(d)A  defamed. the whole |
Marriage party I

Principle : An employer is liabje

for the negligence of his

GUPTAC
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cmployee. But an employer is not |
liable for the negligence of his |
employee if the victim of sw:hi
negligence 15 one of his other

cmployees.

Facts : *A" and *B” were working |
in & factory as unskilled labourers. |
A was carrying a baskét of stones |
on s heswl. B was sitting on the |
ground. When A crossed B, all of |
a sudden a stone fell down from

the basket and hit B on his head. B |
dicd immediately. i

- (a) The owner of the factory will

18R,

1" ]H_

be hable
{b) A and the owner of the factory |

shall be jointly liable
(c) The owner of the factory will [

not be liahle
(d) Mone of the above _
Principle : Damages are the
money recompense, as far as|
money ¢an do, for the violation of
a right,
Facts : A, an Indian -:mzen,
having a right 1o vote., was not |
allowed to cast his vole on the
polling booth, by the returmning |
officer. Name of A was
mentioned in the voter's list. A
has alse reported at the polling
booth in time. However, l.hﬂ
candidale in whose favour A |
would have cast his vole won the
clection. A filed » suit claiming
damages.
(a) A will be entitled 10 damages
(b)A will not be entitled to

damages |
(ch A will be entitled to only

nominal damages |
(d)A  will be entitled mi

exemplary damages
Principle : When a party to a
contract has refused to perform,
or disabled himsell’ - from
performing, his promise in its
entirety, the other party may put
an end to the contract.
Facts : A engaged B on April 12
o enter his service on June 1, but |
on May 11, A wrote to B that his |
services would not be needed. On |
May 22, ‘B joined C for|
employment.
() B must wait till June 1

——

« track

(b} B must have joined C on
May 11

(€] B s not bound to wan all June |

(d) A must pay damages (o B

Principle : When a person

voluntarily agrees to suffer some

harm, he is not allowed to
complain for that.

Facts : "A" was one of the

spectators at a formula one car

race, being held at Gurgaon, on a

owned by one ‘M’

company. During the race, there

was a collision between two
racing cars, one of which was
thrown away amidst spectators,

thereby causing an injury to “A’',

‘A" clams damages for the

injuries caused to him.

(a) M company will be liable for
damages because the injury
was caused during the race
organized by it

(b} M company will not be liable
for damages because A had
come o sce the race on his
own will

(c) M company will not be liable
for damages because the
collision between the cars was
bevond its control

(diM company will be liable
because it has eamed huge
revenue by way of sale of
tickets for the event

« Principle : An mierest which is

created on a transfer of property
and depends upon the fulfillment
of a condition will fail if the
fulfillment of the condition is
impaossible or is forbidden by law
or is of such a natre thal, if
permitted, it would defeat the
provisions of any law or is
fraudulent or involves or implics
injury to the person or property of
another or the court regards it as
immoral or opposed to public
policy.

Facts : A gives T 10,00,000/- 10 B
on, condition that B shall marry
A's daughter C. On the date on
which A gave T 10,00,000/- 10 B,
C was dead.

(a) B's intercst in € 10,00,000/-

fals because of impossibility
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(b} B's interest in € 10,00,004/-
fails because of immorality
(¢) B's interest in ¥ 10,00,000/-
fails because of prohibition by
law
(d) B's interest in ¥ 10.00,000/-
does not fail .
Principle : A condition precedent |
must be complied with before the |
happening of the event 10 whu:h
such a condition is" attached.
Fulfillment of such a condition
after the happening of the event is
no fulfillment of condition.
Facts : A transfers T 5,000/- 1o B
on condition that he shall marry
with the consent of C, Dand E. As
C, D and E had 10 go abroad for
some business purposcs and as|
the date of marmiage was already |
fixed, therefore. B marries |
without the consent of C, Dand E, |
but obtains their consent after the |
marriage when C, D and E retumn |
to their country. |
{a) B has fulfilled the condition
(b) B has not fulfilled the
condition :
{c) B was free to marry any one
without the consent of any
body
{d) B must divorce his wife as he
married her without fulfilling
the condition
Principle : In an agreement, a
condition subsequent must be
complied with, tw claim the
benefit of that agreement.
Facts : A agrees to transfer a farm
o B, provided that, if B does not
go to England within three vears
after the date of the agreement. his |
interest in the farm shall cease. B |
does not go to England within the |
term prescribed. |
(a) B's interest in the farm|
continue
(b) B's interest in the farm does |
not continue
{¢) B has a fundamental right to go |
o England or not o go to
England and hence the
condition was illegal
{d) The agreement between A and |
B was void |
Principle : Existence of all the
alleged facts is relevant whl:lhcrr
they occurred at the same time |

GUP
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and place or at different times and |

places.

Facts : A, a permanent resident in |

a foreign country who never

visited India, is accused of

waging war  against  the

Government of India by taking

part in an armed insurrection in

which property 15 destroyed,
troops are atiacked and prisons
are broken open.

(a) The existence of all the above
menboned  alleged facts s |
relevant

(b) Omnly the alleged fact that A is |
accused of waging war against |
the Government of India is |
rclevant '

{c) The fact that A was a
permanent  resident in a
foreign country who never
visited India is not relevant

(d) Only the alleged fact of taking
pat by A in armed
insurrection is relevant

Principle : Whoever desires any
court 1o give judgment about any
legal right or lability which
depends on the existence of those
facts which he asserts, must prove
that those facts cxist,

Facts : A asserts that B, C and D

have commitied an offence of

cniminal conspiracy and therefore

A desires a Court to give judgment

that B, C and D shall be punished

for that cnme which A says B, C

and D have committed.

{a) A must prove that B, C and D
have commutied the crime '

(b) B, C and D must prove that
they have not committed the |
crime '

(e} A must prove that B, © and [ |
were present at the place of |
crime

{d) Police must prove that B, C|
and D have commitied the
crume [

Principle : The fact that any

person was bom  during  the |

continuance of a valid marriage |
between his mother and any man, |
or within two hundred and eighiy |
days after its dissolution, the
mother  remaining  unmarried, |
shall be conclusive prool thal he |

15 the legiimate son ol that man. |

unless it can be shown that the |
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parties 10 the marriage had no
access o each other al any time

when he could havé  been
begolien
JFaets: X and Y mamried on

January 15,1995, Y, the wife of

X, never left her parental home

and never went 1o her husband's

home, A boy was bom 0 Y on

July 15, 1995, For the Court -

{a) There shall be a conclusive
proof that the boy is the
legtimate son of X '

{h) There shall be no conclusive
prool that the boy 1s the
legitimate son of X

{¢) There shall be a conclusive
proof that the boy is the
illegitimate son of X

{d} There shall be no evidence at
all

Principle An  unlawful

interference with a person’s use

or enjoyment of land, or some
right over, or m conmechon with
it, 18 & nuisance in law of lor,

Facts : Duning the scarcity of

omons, long gqueues were made

outside the defendant’s shop who
having a license o sell fruits and
vepetables used 1o sell only | Kgof
onion per mtion cand. The queues
extended on 10 the highway and
also caused some obstruction o the
neighbounng shops. The

neighbouring shopkeepers filed a

suit  for nuisance  against the

defendant. Which one of the
following decisions will be correct

in this suit 7

(a) The defendant is liable for
nulsanse

(b} The defendanmt is not liable for
nuisance

¢} The defendamt is liable under
the principle of strict liability

id) The plaintiff's suit should be
decreed in favour of the
neighbouring shupkeeper

Principle : Fvervy agreement in

restraint of the marmage of any

person, other than a minor, is
void,

Facts : Cadir Khan died m a road

accident. Two co- widows, Sultana

and Marjina: enter  mio  an
agreement that' if any of them wall
remarty, would forfeit her right to

GUPTA
CLASSES



199,

her share in the deceased husband’s

property.

() The agreement is void because
il was restraint of marriage

(b) The agreement is not void
because no  restraint was
imposed upon either of two
widows for remarriage

(c) The restraint was partial so
agreement is valid

(d) None of the above

Principle : Nothing is an offence

merely by reason of its being done

with the knowledge that it is likely

io cause harm, if' it be done without

any crimimal ntention o cuuse

harm, and in good futh for the

purpose of preventing or avoiding

other harm ko a person or property.

Facts : Mr. Sharman, the Italian
captain of a sleam vessel,

suddenly and without any fault or 200,

negligence on his part, finds
himself near the Kochi coast in|
such a position that before he can
stop his vessel, he must inevitably
run down a boat B with twenly or

thirty passengers on board, unless
he changes the course of hi5|
vessel, and that by changing. his
caurse, he must incur nsk of
running down a boat C with only
iwo passengers on board, which
he may possibly clear. Whether
Sharman  has  committed an
offence 7
(@) Sharman has commined no
offence because this was done
out of necessity .
(b) Sharman  can  be  held|
responsible for the act of

criminal negligence
(c)Sharman can  be  held
responsible  for  culpable
homicide

(d) This is a clear case of aceident |
s0 Sharman cannot be held |
responsible

Principle : Only the Parliament

o the Stale Legislatures have the

authority to enact laws on their |

own. No law made by State can |

take away a person’s fundamental
right, |

Facts : Parliament cnacted a law,
which according 10 a group of
lawyers is  violating  the
fundamental rights of traders. The
group of lawvers filed a wni
petition against the Parliament for
enacting such law and requests
the court to quash the law and to

. direct the Parliament to make a

now law.

() No writ would lic against the
Parliament. as the Court has
no authority to direct the
Parliament to enact or re-enact
a law

(b) The Court can quash the
existing law if it violates
fundamental right and can
direet to make a new law

{€) The Court can quash the
existing law, if il violates
fundamental right but cannot
direct the Parliament 1o make
anew law

(d) None of these
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